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DATELINE
A number jig with a difference: with clues to figure out (with the help of a calculator if you wish!) to 

discover the date in the shaded line – in this case, a date of some religious significance.

  ACROSS
 1 Divide 217,279 by 29 Across
 3 Cube 5 Across, then subtract 

18 Down
 5 Pounds in a stone
 6 Multiply 17 Down by 44, then 

add 2 
 9 3 baker’s dozens
 11 Double 9 Across, square the 

result, then subtract 5 Across
 13 Sequence of descending 

consecutive digits
 15 Add 5 to the cube of 101
 19 ‘Anagram’ of 15 Across
 21 Subtract 28 Down from 13 Across
 23 Shillings in 52 guineas
 25 Roman L
 26 Multiply 32 squared by double 

9 Across
 29 Add 2 squared to 3 cubed
 30 Subtract 3 Across from 11 Across
 31 Treble 25 Across, then multiply 

by 44

  DOWN
 1 Multiply 245 by 32
 2 Treble 20 Down
 3 Weeks in 2 years
 4 Add double 5 Across to the 

square of 97
 5 Twice the sum of 25 Across and 

29 Across
 6 Subtract 1 Across from the square 

of 22 Down
 7 Add 575,308 to double 19 Across
 8 Subtract 97,909 from treble 

6 Down
 10 Add 8 to the square of 29 Across
 12 Three-sevenths of 166,684
 14 Seconds in a day
 16 Subtract 17 from the cube of 7
 17 Average of 247 and 286 and 397 
 18 Five-elevenths of 1,969
 20 Add 17 squared to 32
 22 Add 5 to the sum of 3 Down and 

18 Down
 24 Multiply 17 Down by 30
 27 Seven-eighths of 1,064
 28 Quadruple 5 Down, then add 68
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*7009*1849*
*8**6*0**4*
14*13642*39
6070*7*9876
2*1030306*9
**4121154**
8*3063010*3
9160*2*1092
50*79872*31
*0**3*1**0*
*4221*6600*

The date in the shaded line is 4/12/1154 – the 
day Nicholas Breakspear became Pope. He 
has been the only Englishman to be Pope.


